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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 192 2 0.1 2 99.5 100
2 192 7.7 2 11 69.7 100
3 191 3.3 1.4 7 47.8 99.5
4 192 8 1.7 10 80.3 100
5 192 7.7 2.5 15 51.1 100
6 192 8.3 2.9 15 55.1 100
7 187 8.2 3.4 20 41.2 97.4
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question Answer Mark AO1 AO3 


5. (b) (iv) 0-1 marks:  Answers which identify, with little or no explanation of 
the action the first aider should take before starting CPR.  May 
just be a list of actions or a confused answer.  Little or no use of 
specialist vocabulary. 
 
2-3 marks:  Answers which give limited explanation of the action 
the first aider should take before starting CPR.  Answers 
communicate meaning, with some use of specialist vocabulary. 
 
4 marks:  Answers which explain in detail, with clear evidence of 
understanding, the action the first aider should take before 
starting CPR.  Specialist terms used with ease and accuracy. 
 
Likely answers may include: 
 
In order not to delay the life-saving techniques, check for any 
bleeding wounds because if CPR is started, blood will be lost 
through the wounds.  These wounds need to be plugged with a 
sterile dressing.  The pulse is no longer looked for because it may 
be difficult to find on the casualty. 
 
The first aider must instruct another worker to dial 999 (or 112) for 
an ambulance immediately. 


4 2 2 


 


   Total for Question 5 15 10 5 
  








Sticky Note

The candidate has understood the question and covered emergency services, check for wounds, stop bleeding and a reason.








Sticky Note

Checking pulse is no longer done; however, because the candidate has mentioned checking circulation and understood the question, a mark was given.
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Examiner


	


(iv)	 The first aider found that Wyn was not breathing.


Explain the action the first aider must take before starting cardiopulmonary 
resuscitation (CPR).	 [4]
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Question Answer Mark AO1 AO3 


6. (b) (iv) 0-2 marks:  Answers which identify, with little or no explanation of 
why the campaign was aimed at different target groups.  Little or 
no use of specialist vocabulary. 
 
3-4 marks:  Answers which give a limited discussion of why the 
campaign was aimed at different target groups.  Answers 
communicate meaning, with some use of specialist vocabulary. 
 
5 marks:  Answers which discuss, with clear evidence of 
understanding of why the campaign was aimed at different target 
groups.  Specialist terms used with ease and accuracy. 
 
Likely answers may include: 
 
Target audiences: 
 
• parents or babies and children that are due for their first or 


second jab because they are not protected or not fully 
protected and immune system not fully developed 
 


• those who have not been vaccinated and are seriously ill and 
elderly because their immune systems are weaker due to their 
illness or because it is declining due to age 
 


• pregnant women because they are providing for a growing 
foetus which weakens their immune system 
 


• carers of vulnerable individuals because their immune system 
is exposed to a variety of ailments and is already working hard 
to protect the carer 
 


• unvaccinated young people, children, teenagers and adults – 
anyone not vaccinated – because they are likely to become 
infected with measles, carry the virus and pass it on to others 
who are not vaccinated 


5 2 3 


   Total for Question 6 15 7 8 
  








Sticky Note

The response needs to give a reason.









Sticky Note

Two reasons given.  Not working on a Saturday is qualified.








Sticky Note

Two reasons given and qualified.
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Examiner


only
	 (b)	 Public Health Wales was extremely concerned about the large number of individuals in 


Swansea who had not been vaccinated against measles.
A campaign was launched to encourage individuals to be vaccinated.
Extra drop-in clinics, where the vaccination was readily available, were opened on 
Saturdays.


(ii)	 Explain why extra drop-in clinics were open on Saturdays for vaccinations.	 [3]


© WJEC CBAC Ltd. Turn over.
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Question Answer Mark AO1 AO3 


7. (a)  0-2 marks:  Answers which identify, with no explanation of the 
first aid procedure to stop Tracy’s leg bleeding.  May be a list or 
bullet points.  Little or no use of specialist vocabulary. 
 
3-4 marks:  Answers which give a limited explanation of the first 
aid procedure to stop Tracy’s leg bleeding.  May give some 
reasoning. May be lacking all of the procedure or be confused.  
Answers communicate meaning, with some use of specialist 
vocabulary. 
 
5-6 marks:  Answers which explain, with clear evidence of 
understanding of the first aid procedure to stop Tracy’s leg 
bleeding.  The procedure is in the correct order, with reasoning.  
Specialist terms used with ease and accuracy. 
 
Likely answers may include: 
 
• wash and dry hands before administering treatment 
• individual to cover cuts on their hands and put on disposable 


gloves (prevents cross-infection) 
• apply pressure 
• clean the cut – if it is dirty, put it under running water 
• pat dry with a sterile dressing or clean, lint-free material 
• raise the wounded area above the heart (see below) 
• cover the cut whilst cleaning the surrounding area with soap 


and water, and pat dry 
• cover the cut with a sterile dressing or plaster 
 
Raising Tracy’s leg above the heart will reduce the amount of 
blood being lost.  This happens because the heart will find it 
difficult to pump the blood upwards against gravity and so the flow 
will slow down to the wounded area and there is more chance of 
stopping the flow. 


6 4 2 


 
  








Sticky Note

Candidate has correctly said to clean the wound.  Putting pressure on leg is also correct.  Some incorrect language used:  "damage" instead of bandage.  A list.








Sticky Note

Order is correct.  Reassuring will not stop the bleeding and neither will referring her to a GP.
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Examiner


only
7.	 Jina’s mum, who has difficulty walking unaided, lives in a residential care home.
	 On a recent visit, Jina found her mum, Tracy, lying on the floor in a pool of urine, screaming in 


pain and very frightened.
	 She had tried to get out of bed to go to the toilet because she couldn’t wait any longer for 


someone to help her.
	 She had fallen and cut her leg which was bleeding.
	 Jina heard a carer yell at Tracy, saying: “I am not going to help you until you stop screaming.  


Look at what you have done. Get up off the floor, you silly old woman.”


	 (a)	 Explain the first aid procedure to stop the bleeding from the cut on Tracy’s leg.	 [6]
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Question Answer Mark AO1 AO3 


7. (c) 0-3 marks:  Answers which identify, with little or no discussion, 
the types of ill treatment and/or the effects on Tracy’s well-being.  
May just be a list of effects or types of ill treatment.  Little or no 
use of specialist vocabulary. 


4-6 marks:  Answers which give a limited discussion of the types 
of ill treatment and/or the effects on Tracy’s well-being.  May link 
the type of ill treatment to the effect.  Answers communicate 
meaning, with some use of specialist vocabulary. 


7-8 marks:  Answers which discuss, with clear evidence of 
understanding, the types of ill treatment and the effects on Tracy’s 
well-being.  Must correctly link the type of ill treatment with 
appropriate effects.  Specialist terms used with ease and 
accuracy. 


Likely answers may include: 


Emotional abuse: 
Making Tracy feel worthless by not looking after her or speaking 
to her properly.  She may feel humiliated, looked down on, 
immature, which will make her feel devalued and lead to her 
having low self-esteem, and she may feel embarrassed and 
ashamed.  Can cause Tracy to feel frightened and in danger. 


Verbal abuse: 
Shouting at her and telling Tracy, who is a vulnerable individual, 
that she is silly and inadequate, giving Tracy low self-esteem 
because she believes the insult and feels worthless.  Sad and 
nervous because she is feeling hurt and humiliated.  Afraid to ask 
to go to the toilet again. 


Physical or neglect: 
Imposing expectations on Tracy that are inappropriate for her 
physical ability.  The carer is not meeting Tracy’s basic needs.  
Inadequate care because she has lack of help to go to the toilet.  
Putting Tracy in danger by inadequate supervision.  This may 
make her feel stressed as she may be lefty lying in her own urine, 
causing a spread of infection, lack of personal hygiene and 
embarrassment. 


(Any other reasonable answer.) 


8 3 5 
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Sticky Note

Candidate explains the effect of the ill treatment on Tracy's well-being. 



Sticky Note

Candidate has clearly identified and explained the evidence for different types of ill treatment. Throughout this answer.
Neglect, emotional, physical and verbal.








Sticky Note

Candidate has covered physical and emotional ill treatment.  These have been qualified in the candidate's own words and the candidate has cited examples from the scenario.  However, there is insufficient detail and discussion for more marks.
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Examiner
only


	 (c)	 Discuss the types of ill-treatment Tracy experienced and the effects of these on her  
well-being.	 [8]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


© WJEC CBAC Ltd.







